ERI0EIFIIAF EBER

KEHOBLEFEEFRLTCLAEHBEIZOLTIL. FFBBEFOATHYIVFLTHBYET,

| E:35 5PN WEARAS W7ERE A B A3
EA& | = = = N ] EA& | = - = N A& | = = Jre. N
5 2as | mm | omm | BE L am | (mwmeosme| BX% | mw | mm | B | am aemeun | orE | mwm | mz | FE | e
~20/% R 0 0 6 0 6 HE 5 106 150 27 288 1ERH 2 14 18 7 41
208 LA b~ 2585 k% 0 7 2 4 33 E3E) 4 53 115 24 196 1~ 3R 1 25 50 8 84
2585 Ll b ~ 30855k % 2 19 23 7 51 &t 9 159 265 51 484 SE~BER 2 26 24 10 62
308 LIk ~ 358k 1 23 27 12 63 54 ~ 104k 1 36 7 16 124
3B LLE ~40E R 0 23 43 1 77 104 ~ 154k 0 27 49 8 84
A0 LLE ~45E R 2 2 4 3 68 [ FIPN 154 ~ 204k 0 22 37 2 61
——— e | = " BB :
452 B E ~508% ki 1 18 24 5 48 £ Ham | B mE | JrR | AR 20%&LL £ 3 9 16 0 28
507% LU b ~558% ki 1 10 10 0 21 Bt 3 54 101 3 161 a5t 9 159 265 51 484
552 LU _E ~608% 5k i 0 10 18 4 32 E-oi3 6 105 164 48 323
60/% L £~ 2 27 51 5 85 = 9 159 265 51 484 EBEHAEE (EHoH)
&% 9 159 265 51 484 WELLimxim
154 ~ 2045 8.5b
LHERBNE 5 . 4.2 VE~3ERA
13. 8% 17. 4%
55~60 25~30
6. 9% 14.2%
JEHE
50~55 30~35 40.5% 4
104 ~ 154 :
9.4% ™ 19.6% $15 I%Eﬁ 3~
: 12. 8%
45~50 S5E~104
26. 0%
35~40
6. 7% 12.9%
aisa ERER (B
D60RELLE~ =t
BAFHE (HHD) ot coms o0t amen
R 0508 Bl ~ 558K 804 | 154 ~20FKH
) <
80% — 04555 Bl b ~508% 5k e - 7 0105 ~ 155 %%
60% CAORERLE ~ AR 60% = 0545 ~ 104 5
™ - U5 E ~AORAH 40% o35
20% _ OOORLE -SSR 20% — O~ 3R
' — 0258 Bl b ~ 308K o — -
P = ——— D0EULE~25ERE 66. 7% Ay = reE wH oA
i L E B O~20@KE TR (ERFE)




